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INSTRUCTIONS TO CANDIDATES
Read the following instructions carcfully before you answer
the questions. Answers should be marked in the OMR
Answer Sheet using black ball point pen.

1. This booklet consists of 100 questions for four subjects
with 25 questions in each subject.

1-25 Mathematics
26-50 Science

51-75 Social Science

76 - 100 Mental Ability Test

2. Each question carries one mark.

3. Since the time allotted to the Question Paper is very
limited, you should make the best use of it by not
spending too much time on any question.

4. Ifyou donot know the answer to any question, donot
spend much time on it and pass on to the next one. If
time permits, try the questions which you have leftin
the first instance.

5. Blank pages are provided for rough work at theend of
the Question Booklet.

6. Choose the correct answer from the options given for
each question and darken the corresponding circle with
black ball point pen in the OMR Answer Sheet.

7. Handover the OMR Answer Sheet only to the
invigilator and the candidates are allowed to take the

Question Booklet with them.
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MATHEMATICS / senflsd ‘ |
1. The number whose multiplicative inverseis | 1.  g(m erawranflem GlLHESHD saasfl <G5
the number itself. The number is : era erafled, SibS Gra : ]
‘ g ) |
®m -1 @ 1 @ -1 @1 ‘
1
@ 0 @) % @ o0 @

2. The cube of a negative number is :
(1) always negative
(2) always positive

(3) meither positive nor negative

(4) either positive or negative

3.  The standard form of 1.86 x10° is :
(1) 186000 (2) 18600

(3) 1860000 (4) 1860

4. The value of 32=1 then, the value of a is :
1 a 2 0

@) 1 (4) "o

5.  The area of a circle of radius r is mr2. Here
the wis:
(1)  a rational number
(2) an irrational number
(3) an integer

(4) mnota number

TR 5331

RH GO eramenflen Gevomeng :

1) erUGUTSID G®D TERTERTTEGLD
@ erLQurpgb Wems GTERTERTT(GLD
B) G T ETEI LDV, Bens
GT GRTEM) LD EV

(4) (@M eTeT Qg Wens eret

1.86x10° eramugen S L& GOUIE :

(1) 186000 (2) 18600
(3) 1860000 4) 1860

32=1 erafled, a-e WL :

1) a @ 0

® 1 @

I
ST T 2e@Lw el Lgder urliLeney l\
2. @G T TS :

1) e Adsepy eram
@ e dfswppr eram
@) e® wpu e

(4)

4) . (I GTE e \

P.T.O.
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6.  The length and breadth of a rectangular
painting are 5xy> and 4x2y. Its area is :
(1)  20x33 (2)  20x34
(3) 20x%3 (4) 20x32

7. (3a)?is same as :
1) @R @? @ 9
(3) 3a? (4) 6a2

8.  The simple formula to calculate (98)2is :
(1) (100-2)2 (2) (50+48)2
(3) (90+8)2 (4) (88+10)2

9.  The next perfect cube number to 125 is :
1 216 @ 125
() 625 (4) 343

10. Sum of two number is 97 and one number
exceeds another by 5. The smallest number
is:
1) 51 2) 46
(3) 41 (4) 45

11. The equation form of y-axis is :
(1) y=0 2 x=0
@) x=y )" B= 0

TR 5331

www.kalvi expr&ss.i“n

10.

11.

e®m Qsdious age geflubdlern Berid
LHHD SjELD wpapGw 5xy3 HMID
4x%y. ygen LFLUGETEY
(1) 20533 (2) 20x%*

@) 20x%3 @) 20232

(B3a)? -&@ swwrag) :
1) @2 @? (2) 9a
(3)  3a2 (4) 6a?

(98)2-g6 &GamGEL 256 eraflw
@SEIDd :
(1) (100-2)? (2) (50+48)%

@) (90+8)? 4) (88+10)?

125-61 SBSS (P &am GTanT :
(1 216 (2 125

@) 625 4) 343

Qrea® eramaatien sBFL 97 wHMID
R eTewr LHEADTW TaTEa 6l
5 Fab erafled, jeudmier Sl eremr :

()BT @) 46

@) 41 @) 45

y &8len swerur(
1) y=0
@) x=y ln{d)

@ x=0
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13.

14.

15.

16.
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A simple interest becomes the compoung
interest by annually when the number of

year(s) is/are :

(2) 10
100

1 1
G 2 “)

If x and y are directly proportional, then
which of the following is correct ?

_ 3
) s @ k=1
@) x=ky @) k=yy

A and B together can do a piece of work in
16 days and A alone can do it in 48 days.
The number of days for B to complete the

work is :
1 16 . (2) 18
(3 24 (4) 48

The sum of three angles of a right angled
triangle is :

1 90° )
(3) 120° 4)

180°
360°

The point of concurrence of the three
altitudes in a triangle is
@ I (2

G
B) S (4) H

12,

13.

- 14.

15.

16.

)
)

safl alguar b  HoLEGD fﬁi”(

aul g SQsTEEsWD, auHLTBET epudled |

seéd U@ D gal Daut_iguder

sl D50sTmsy D swwrs @ Ldarn |

QUmHLLD/euLEisallcn aramaisms : |

M 1 2 10 Fi
i

@) 2 4 1200 /

x wppD § pemEGsTay CrioTDeD
o araran crefléd, emeuBHd TS GRETm
sflwrerg ? .

R =

Oh ke (2). k=

6) x=ky @ k=xy

A wpgd B Qoanhd @earpg @0
Caumaomw 16 prisalgn, <Gs
Cauamaars A L Hb 48 prisaflgibd

Cylur eafléd, <ieGeaumaudaar

B bl (b Qswig wpiss Coameuit@Bo
BIL&GET

(1). 16 2 18

(3)i0 .24 50, 4) 48

(m CeriGarean pECaTamsHlen epem)
 Caremiisaiien gm@ge :

(1)

1902 5 2)... 180°
®3) 120° (4) 360°
wiCstampflar warn Qshesss
Gar@a@Eshd shHé@n Letaf : b
1 I @ G
@ s @4 H

P.T.O.
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18.

19.
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Which one of the following may be the three |

sides of a triangle ?

2,2,6 @ 33,2

@

@)

@) 3,45 4,56

The area of rhombus whose diagonals are
8cmand 6 cmis:

48 cm? 26 cm?

@
)

@
®)

14 cm? 24 cm?

The area of a square is 100 cm?. The diagonal
of the square is (in cm) :

(1) 200 (2 10
(3) 100 4) 20410

20. The area of a square whose one side is
45cmis:
(1) 20.25cm (2) 20.25 cm?
() 22.25 cm? (4) 20.05 cm?

21. The range of the data 5, 15,10, 7, 20, 18 is :
(1 20 2 5
3 10 4) 15

TR 5331
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17.

18.

19.

' 20.

21.

QémeuHaIETEIDDIET THS. @_GUTQJ )
(p&CETaMSEEN LISSHISETTE Sjenlpwd ?

1 2,26 @ 332

(B) 3,45 4 456

8 Q&8 wppb 6 G&B8 -@
el L BISETTES QameRTL
smiggrsdlen LFuUETe] |

1) 48 Q&.15? @2 26 Q&.f?

@) 14 Qg5 @) 24 Qs15?

em sgirsSer uriuaa) 100 Q&.152.

<ABS g5 &S en ‘epenaailLLd
(Qs.BLLfed) @ :

(1) 200 (2 10

(3) 100 (4) 20410

45 Q.8 -8 @@ UsSLTEE QsTaTL
FgIrsHen LFLiLaTa

1)

|
() 2225Qs.82 (4) 20.05 Qs.152

2025 QeS8  (2) 20.25 Qe.15?

5,15, 10, 7, 20, 18 erenip Sreysaten ci&s: :

1) 20 @ 5

@) 10 15

“)
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23.

24.
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If a class size is 100 and range is 680, then

the number of possible class intervals is :

(1) 68 2) 6.8

(3) 0.68 @ 7

A bus carrying 40 passengers with some

people having ¥ 6 tickets and the remaining
having ¥ 8 tickets. If the total money
received from these passengers is ¥ 290, find
the number of passengers with ¥ 8 ticket.

@ 20 (2)'415

@) 30 4 25

A line graph for the graphical representation '

of the frequency distribution is called :

(1) histogram
(2) pie chart
(3) data

(4) frequency polygbn

Which of the following is a Fibonacci

sequence ?

v 1,1,235...
2 1,2345,...
B L1,246...
4 1.,1,236...

. TR 5331

22.

23.

24.

25.

9fledér <iate) 100 wHMID 6i&s 680

erafled, FrgEHwomen Wfey
@erLQauafudlen CTETENEENS [
1) 68 2 6.8
@) 0.68 ). 7

(% Cumber 2 6er 40 Lwenflsafled Slevit
Z 6 -saren LwWenE FleLwb,’ Bsb
o GreTeuiaer T 8 ~Samen Liewd FLenL b
QupmieTarer. vwenflsefl 1 @HHs
vwensEl @  slLewrors T 290
QupLiu @ereng) erefled, T8 Lwems &)
Quip Lwesafler eramentléms :

1 20 @ 15

B).. 307 @) 25

CpraGasri( | UL @S

Luatu@ss Hspbeudr uUame
- @ulipeusl eresTLILI(hILD.

1) Hspeys Qeeucusd
(2)  eulL eflerdsLiLLd
() srasar

@) BSapejl ueGsTamrid

Qemeupeuameudmer  eTHS Qe
uGanmél eranr QgmLFTEWD ?
s 1,258, 5, 4a
a0 B W ST B0
B) 1,1,24,6,...
(@) -+ 11,2036, 0 .
P.T.O.
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SCIENCE / Siilefllwe0 N
26. Suppose 300 N/m? pressure is acting on a 26. 20 (82 GopHuruy Qemer QUW(@. 6:;
20 m2, surface area, what is the force ? Bl 300 N/m? AWVSS
G\Eggguuu_rrw S| SE0 ellens :
1) 15N @ 20N 1) 15N 2) 20N
(3) 6000 N @) 600 N (3) 6000 N (4) 600N
27. is a device which maintains | 27. _____ | o cretug @@ @uTanen
constant temperature of a place or an object. Sowg GLssan Qeusubleneven s
DTG eSS 2 @b STSHETLD <2 GD.
(1) Calorimeter 1)  sGeomfl LT
(2) Thermostat (2) Qg,r’r@mrrdm_rrﬁ_
(3) Thermocouple @) QG sluder
(4) Thermos flask 4) Qaulus Gheve
28. Hydraulic lift is an instrument which works | 28. Bflwe 2w T8 orhs  elgufen
on the principle of : SigliueL e Qukigs ngl ?
(1) Law of floatation 1) WVssse a9d)
(2) Pascal’'s Law (2) umevse a9 .
(3) Ohm's Law () e a94
(4) Hook’s Law @) an9s 94
29, The wavelength of a monochromatic source | 29. ) v@‘r_i)as)g) Bl eaedlud e @{m@)f}mfn
is 6000 A. It's value in nm (Nanometer) : 6000 A. @setr nm ( BrGemuSL L ) i :
(1) 6000 nm (2) 600 nm (1) 6000 nm (2 600 nm
3) 6nm ) 60 nm (3)  6nm 4) 60 nm
TR 5331
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30. Find the incorrect statement.
(1) CGS is a metric system of units.
(2) MKSisa metric system of units.
@) Sl is a British system of units.
(4) FPS is a British system of units.
31. The number of images formed by a mirror
depends on the of the mirrors.
(1) angle of inclination
(2) plane angle
(3) angle of incidence
(4) angle of refraction
32. If the sound has a frequency of 80 Hz and a
wavelength of 20 m, then the speed of sound
is:
(1) 40 ms™! ) 80ms!
(3) 3200ms-!  (4) 1600 ms!
At Curie terxiperature :
(1) Ferromagnetic material becomes
Paramagnetic material.
(2) Paramagnetic material. becomes
Ferromagnetic material.
(3) Ferromagnetic material becomes
Diamagnetic material.
(4) Diamagnetic material becomes
Ferromagnetic material.
TR 5331

30.

31.

32.

33.

seupran FHENS GaimbEs[H &E&eLD.

(1) CGS eranug QuLf& G e
(2) MKS erenuig Quif& DG P :
(3) Sl erentug) Sadle DG (PO

(4) FPS erenug) hméla A0S (POD

Spusaice Carangd (Qbu ki &afl e

cramelGans < sEhadeLGu 2 arer
FnibSS!-

‘(1) gmileys Caranseamnsd

(2) sor CeraMHMS

@) u® Csrausms

4) &N@ Garanseds

@m @ 80 Gapiev <=1 6l 6w e
wHmb 20 18 Siomaferd GeTarLg).
Sibg @aluder Goustd : :
(1) 40 ms! () 80 ms!

(3) 3200 ms~! (4) 1600 ms~1
Sy fl Qauiufleneoudled :

1) SQuiGyr srpsly Qum@ar LmyT
sTHsL QUIHETTS LIMIEDS.

@) umpr &rpsL AUIHET SEUTGyT
srpsl QurgaTts WIHADS.

(3) _&Qur’r@lyrr &Ths Qumer Luwm
sThsl1 QuTheTTs LIHIEDS.

@) Lwur stsl Qur@e SEuiGyr
sMHsL QUTHETTS LTNIEDS.

P.T.O.
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34.  The metal used in X-ray machines :
(1) Copper . (2) . Silver
(3) Lead (4) Aluminium
35."  The reason for H,SO, called the “King of
chemicals” is ;
(1) Oxidising agent
(2) Redox agent
(3) Bleaching agent
(4) Dehydrating agent
36. Which one of the following 1s not related to
Pentane ?
(1) Deodorant
(2) Polystyrene
(3) Solvent
(4) Fuel
37. Find the odd one out.
(1) Coke
(2) Ammonia
(3) Syngas
(4)  Town gas
38. " Oil of vitriol is
(1) Ferrous sulphate
(2) Sulphuric acid
(3) Potassium chloride
(4)  Copper sulphate

TR 5331 '
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34. X-sdi erpHrisatie LuETUHSSILED

35.

36.

37.

38.

1y

(4)

e Awmed

2 Georsid :

(1) smAyd (2) Qeuerarfl

(3) a&mrfwibd @) <gdlefub
ey MNé < flev D

“CGaudLQumparsaflen  oiyeear” erenm
SDPESILIL_E STFEuTLD :
&HnCarmn waeuir

@ sfigCapp @G&E

(3)  Hlpo ped

4) B 5&4

Spésa_eaunde g uaGLCerr®
QamLiy @eéeorsg) ?

6 uTEaDaL] Qu'rr@dr'

@
®)

uredevenLfer
SETLILITET

erfQuimqmer

QAurBbsTS Gererps CaibOsHESaLD :
1 Gk

)
®)
(4)

Hesif

Greflwimr
QAsr@L aumuy

B&T eumuy

6T & Gwr i GraTusy
@by soCul

&EHSE SlevLd

Qumrt_Lrdwib &Carreny ()

Smlly soGui
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Cathode Ray Tube was discovered by :

39.
(1) John Dalton
(@ Sir William Crookes
(3) 1. Thomson
(@) Ruther Ford

40. Chromiumy DDT, Mercury, Micro beads,
Plastic fibres, Cadmium.
From the above, identify how many of them
are industrial pollutants ?
@ 3 2 4
@B 2 4 5

41. Complete the following reaction.
NH,Cl+NaOH — NaCl+NH; T+
@ o, @ H
3) HYO 4 d,

42. Which of the following is/are incorrect
about the uses of fungi ?
(@) Itis used to obtain antibiotics.
(b) Agaricusis highly edible Mushroom.
(c) Ashbya gospil is used to produce

Vitamin By,
(d) It ferments the sugar molasses into
alcohol.
(1) (a) only
(2) (b)and (9 only
(3) (a), (b) and (d) only
(4 () only
- TR 5331
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39.

40.

41.

42.

CaGer(H s Gprenw samH g SHeur ;
(1) gmem LmebL e

() & el GhHev

@) Cg.Gg. grbsen

4) s oGurr®

@Crmdlwib, DDT, UTErED,
perenuifased, QpsH @apsar, -

Sr_Olwib.

Guof & e L6 D Bl ed Qgmfperee
wr&u® 58 &6 6T 556 &l Grené
sl Hlwed.

(1) R (2 4

@) 2 @) 5

Gemaimn Geud eearaw flerpay
Q&u1s.

NH,C1+NaOH — NaCl+NHj T+
® O (@ H
@) H,0 @ dl,

vwerur@®  upHlw
syl sm ST

Ly, Gh e & & afl 6
Qereu@  THSS

‘ seupreang) ?

miemamudis QsraealaaT Swmf&sL
uweTUH DS

SETAGE TS 266w ddnlq W
STETTE GUENS Dh(SLD.

speodwr Garev eneulL il Byy
2 meurssll LweTuGEADS.
sr&sars sflee Qpr&ss
Qewigl ]  ZOSADTRTE
rHmleTme.

(a) LB

(b) pyId () LB

(@), (b) wHmd (d) GO

(c) wL(d

(@)

(b)

(1)
@
@
@

P.T.O.
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43.  Find the odd one out.
(1)  Nephrolepis
(2) Funaria

Anthoceros

®)

(4) Riccia

44. Aloevera belongs to family.
(1) Solanaceae
(2) Liliaceae
(3) Euphorbiaceae
(4) Rutaceae
45. Match the following :
(a) Epithelial tissue (i) Supporting
(b) Muscular tissue (ii)  Protection
(c) Connective tissue (iii) Conduction

(d) Nervous tissue (iv) Movements

@ @), b)), -6, @)
@) @) b6, (Q-v), ([@)-G)

G) (@i, ®-6), ©-v), @)
@ @), B)-Gv), ©-6) [@-Gi)
TR 5331
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43,

44.

QuIrEpbHTEH GEDH Gab@EH&HsaLD,
1)  QpuGrr@elban

2) o9y Canflum

©B)  pGarasyen

4)  fAeHwr

2 Gaorbadrm, GOLUGDSE
EMTHSS!.

1) GereCGanél

) SoIGua

@) W GUTnAGLA

@4 @eLd

Aurehss.

a@fdud fa ()  srrEsD
soss fa @) urgsmiy
N L
Brous e (i) SimFay.
M) @), B)-v), (©-(), (-(i)

@ @-0), O)-(i), (©)-Gv), (d)-Gi)
(@)-(id), (b)-(), (c)-(iv), (d)-(ii)
(@)-(i), (b)-(iv), ()-(), (d)-(iii)
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46. The smallest cell 1n human body is :

47.

48.

(1) Nervecell \.

(2) Red blood cells
(3) White blood cells
4) Nephrons

is composed of muscular tissue,
connective tissue and neural tissue.

(1) Hand @ Leg

(3) Eye (4) Heart

Assertion (A) : Arthritis is a condition that
results either due to friction
of articulating cartilage or
due to lack of synovial fluid
in the joint.

" Reason (R) : Inflammation of joints is

caused due to the lack of
uric acid crystals in the

joints.
(A) is correct but (R) is wrong.

Both (A) and (R) are wrong.

(A).

(A) is correct and (R) explains (A).

(A) is correct but (R) doesn’t explain '

13

46.

47.

48.

wafls 2 Lallan Wa&biu Qeed :
(1) prby Ced
@
@)

)

Qrés SeuliLigméaeT
Qr$s QeueTeneTILIgm) H&ET

QpLiFTenseT

g,m»&{s fe, @eoariys S
pmID BFDLE SEssarmed g
&L

@
)

NG

@)

®) @Qswid

| SHeuT

@G5 by & el
@U@ 27mie] LHDID
HCamailweéd Slreuld
B)OOTESHTED 2, TEHEMITIq 60
oGS, ]

by (A) :

gL Bsafled wié
Siflels Ulg &BISET
Qoarssre el Gaafld
- 3lpnd FHUGEDS.

sryeRtd (R):

SaHm) &l LD;ﬁQJLb STTERTD Seuml

@) by 0Py sTTETD S

®

Fapm &M SYEMD STFERTD FapepD
efleréseilerana

‘a'n,rbg] gf HOID STFED SaHenD
eré@mgi.

(4)

‘P.T.O.
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Select the wrong statement/statements

about bacteria. :

49.
@)
()
(©
CY
(1
@
®)
4)

50.
@)
(b)
©
1)
@)
)
(4)

TR 5331

Bacteria are single celled prokaryotes.

Bacteria are of four types based on
respiration.

In bacteria protein synthesis is carried
out by 70 S ribosomes.

Mitochondria, golgi body, endoplasmic
reticulum are present in bacteria.

(2) and (d) only
(b) only

(b) and (d) only
(c) only

Pick out the correct one about ‘Amoeba’.

Amoeba moves by “False Feet”.

Contractile vacuoles are seen in the
cytoplasm that help in excretion.

Amoeba reproduces by means of
fission and sporulation,

(a) and (b) only
(c) only

(b) and (c) only
All of the above

14

49.

50.

urdeflwreeuls UpBHw saupTer gnpy/
sppsmars Caip0sOEsaD.

(@)

(b)

©

(d)

(1)
@

®)

@)

ursleflukisdr @@ QFdoTrgy
HCrmCasAGur_(H&er < @Lb.

Umé e flw ki ger sourss Sl en
SiglueLted 4 eamsurs
2 _GITement.

umsle N wmred e urss Gersans
70 S alewa erGurCeribserrd
BerL QuDiSmg). _

ursieflwmedled
awl CLrsrargflwur, Caraems
o e, aarGLrilerrs

aumaLlibeaiare sreiiL@Eng).
(a) wpmib (d) LD

(b) wL_(HLd

(b) wpmid (d) LG

() L @b

QABur updw  sAwrer FaHenms
Gaib0sHé&saLb.

@

(b)

©

Sidur  Curdlssrdsdr e LD
QL QuuBAps;.

@ GLrerres s e o _erem
FMEGD 6 EL e s flay
Bss880® o soyfenpen.
<Bureled  @amemay W H @b
wGurt o meursd epe LD
QariQumssDd BeoLQupdpg).
(2) LO@ID (b) L Gib

(©) L EILb

(b) LHYID () L Gib

Cupsresr SDATSEILD
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SOCIAL SCIENCE/ Fops Sileliey
51. Seupren sapHenS Gsih@SH &EEa]D.

Find the incorrect statement.

) RyotWﬂfi system was introduced by

@

Assertion (A) :

Reason (R) :

Thomas Mundro and Captain Read in
1820.

By Ryotwari system the rights of
ownership was handed over to the
peasants.

This system was introduced in the
Ganga-Valley, North-West province
and parts of Central India.

The revenue was based on the basis of

the soil and nature of the crop.

the
Palayakkarars played a

centuries,

vital role in the politic of '

Tamil Nadu.

By the Carnatic Treaty of
1792 the English assumed
the right to collect taxes.

Both (A) and (R) are correct.
Both (A) and (R) are incorrect.
(A) is correct and (R) explains (A).

Both (A) and (R) are correct (R) is not
the correct explanation of (A).

During the 17th and 18th

15

52.

1)

(2)

(4)

o :

STeRTLD

@rusgeurfl paon 1820 -@&
Eho) e Co LHDILD GaliL_e L
GTETLIGUT&ATTE) ‘
SfpsiLBEsIULLS.

@b panpudl e gpevLd Hlagder
o flepoWiTeng) o9 eugmu &afl e
GUELD @uua)L_ésa;uuLL_gj.

@ LD FRMES swQaeuafl,
aLGwHE DTETEITEI&GET, WSSW

@hdwrelier Sa u@Ed et

Cefpsliu®ssILL LS.

Guepopuid e ameruras)
wair wHmb Ldflar geraiouser

- eigliueLude EioreflEslILLL g

17, wOHDID 18 b
BIpPIETIR D SUPRHTL g6
TAIWGOE) LITEnem&SSTTTEaET
@EEW UG euSSgen.

1792 b yp&r®H STHTLS
o L @TLIg SESIITED

< EHCawirsar aifleugd
Qe o MenLoenwwyLb.
Qupmeit.

SHm LHHD STrewd &

Sadm LHMD STFERTD Seum
smpmy sf CoaId Sryewd FbHenm
Meré@HnG

spm wHmd srreRrd sl pemme
srreRTid Smpen elarsseleama

"P.T.O.
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53. Pick the incorrect pair. 53. QurBHSTS Qawearemwg
CaipQsH&ae L.
(1) French -  Fort. St Louis 1) 9Qrgssayisar - Csullen
aufev
CarienL
(2) British Fort. St. George (2 Y uHGawrser - yafls grie
GarienL
(3) Danish - Fort. William ®3) GZL.@ﬂﬁJr'r&;dT a afléeSlwitd
Gamlien
(4) Dutch - Fort. Geldria @) Lés&sTTISET SRR Qadigfum
GarlienL
54. Match the following : - 54. QuUTBHESIS
(@) Brahma Samaj @) 1889 (@) - @Qyibio mgm (@) 1889
(b) Prarthana Samaj (i) 1875 () Arrissean FOMGYLD (i) 1875
(c) Arya Samaj (iii) 1828 (© <pfu swmgld (i) 1828
(d) Sarada Sadan (iv) 1867 d) smrsT EHET (iv) 1867
@) @-(), (b)-Gv), (-, (d)-6) - (M) (@), (b)-(iv), (o)-(id), (d)-()
@ @-v), (b)), (o)-(), (d)-(i) ‘ @ @-v), ®)-G), ©-), (d)-G)
®3) (@), (b)-), (o)-Gv), (d)-() @) (@), (b)-(i), (c)-(v), (d)-()
(4)  (a)-@v), (b)-@), (c)-(iid), (d)-(ii) @) @-@v), (b)), (o)-(i), (d)-(id)
55. Which of the following were Portuguese | 55. @pdHwmrede. Curisg&Sawi
trade centres in India ? eslupOHl LGdHser
(a) Hooghly and Santhome () an®safll, srECsmid
(b) Salsette and Bassein (b) sTe0s, Lfar
() Chaul and Bombay ‘ () Qgeréd, LU
(d)  Daman and Diu h (d) Lmoar, enlyy
(1) (a) and (b) only (1) (@) whmid (b) wGid
(2) () and (d) only @' (© whmd (d) wED
(3) (@ and (@ only @) (@ whmb (@ e
(4)  AIl of the above (4) Gupsar. simassb
TR'5331 16
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56 Find the odd one out. 56. Qulf@;bgr@@é,{f: @g,ﬁ;h@]é@éggalm :
(1) Nino-de-Cunha 1) HGarr-ig-@eET
(é) Joseph Francois Dupleix - (2) Ggmel Grrasmie gLrcer
€)] Alponso-de-Albuquerque @B) = wCUTETET-1q.~ SOLETE
(4) Francisco-de-Almeida k @) QGyrerflevGar- g~ EAWLT
57. Match the following : 57; Quﬁ@gga :
(a) Pulithevar () Dindigul (a) yellsCaauir (@) HeP&sD -
(b) Kattabomman (i) Nerkattum (b) sL@Qumboer (i) @(r_r;,r_i)azl;@Lb .
Seval Qeeaud

(c) Velu Nachiyar (iif) Virapandya (©) Geugy mr&Slwimi (i) SSTLITERTIGWIL|TLD <

Puram

(d) Gopala Nayakar (iv) Sivagangai (d) Garure Brussit (iv) Heushians .

(a)-(ii), (b)-(iv), (©)-(1i), (-0 (1) (@), (B)-Gv), O, (@-6)

(a)-(iv), (b)-(ii), (©)-(id). (- , @) (a)-Giv), (b)-Gi), (©)-Gi), (@-6)

()i, (B)-(i). (), (-(v) ' ®)  (@)-(id), ()G, (©)-()r (d)-Giv)

@ (@-), (b)-(ii). @), @-0)

(a)-Gi), (b)-(id), (©)-(v), (d)-6)

17 P.T.O.
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58. Select the correct statements related to the

Mahalwari system.

(@) The Lambardar enjoyed privileges
which was misused for their self-
interest.

(®) The peasants were freed from
Taxation.

(c) This system brought benefit to the
cultivators.

(d) It was a modified version of the
Zamindari system.

(1) (a) and (&) only

(@) (a) and (c) only

(3) (b) and (d) only

(49) (2) and (d) only

59. World Soil day is observed on :

(1) 5% December

(2) 10" December

(3) 12th December

4) 5% January
TR 5331
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58.

59.

wseeumfl
19 651 6u (1 6u @ 6u D H

&hsg
sRlwurer

oD

appsmas Caib0sHESWD.

(@)

(b)

(©

(d)

@

@

®)
)

Amog senavell FEIMESMET SL0g)

Qarps & (15 L L réi & aifl 6o
2lgliueufle sUDTEL
uweru@B S enmi.

eusrias s eaflefdinge
Gmhg elwssaflssulLg).

@Quyeampwureng efeusmuisEnse
Gorusroreasts QOE5S-

Qe nwurens pergr
weopuier Smsdwumwssiul
g aIDTs QBE55!-

(@) wpmid (b) LB

(a) wHMID (c) L (b

(b) OB (d) L GHid

@ whpd (@) w0l Gib

‘2.8 e prer QasrreézsrLrn_Uu@aJ@ :

1
(2)
®)
(4)

g &L 5
G FDUT 10
lg&DdLT 12

Raneufl 5/
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¢0. Match the following : : 60. Qummsss :
@ Plutonic rocks (i)  Extrusive 4 (a) urgmaTL urenpaer (i) Qauafliyms
Igneous rocks ‘ SriumaD&eT
®) gtratified rocks (ii)  Intrusive (b) SAHEGL LTenmaaT (i) m@@mﬁ]u-l
b Igneous rocks Slurenaer
(¢ Basalt (i) Metamorphic (©) sEEsd Lrepse (i) eorlun
: rock LITenD&ET
@ Slate (iv) Sedlmentary ' (d) ueuénasu urrsmg)esGlT (1v) g equ
rock LITenM &6
() (@), (b-v), O, (@) (1) @), b)), @), (-6
@ '(a)_(ﬁ), (b)-(iv), (9)-(1), (d)-(iii) @) (@), ©)-1v), ©-1), (@)-()
®3)  (@-(ii), (b)-@), (c)-(ii), (d)-(v). ‘ @) | @), (0)-(), (©)-(i), (@)-Gv)
@) (@-(i), (b)-@), (©)-v), (@)-G) 4 (a-(i), (b)j(i), (c)-(iv), (d)-(ii)
Sheep rearing in semi-arid region of South- 61. Qe .égbul_cl]rﬂa;a;rraﬂm S| QUDEITL
b A frica is called "y WrGssmseaiey Cop@srereri(D
Qe <@ eueriy
raTm SiempEsLGEDS.
(1) “Swahili (2) ‘Maghreb’ ‘ (1) &eumad 2 , Gmé;eru
(3) ‘Karoos’ 4) ‘Kiva" () s 4) &

P.T.O.
5331 19
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62. Match the following : 62. QuUTBSES
() Continent of Science (i) Veld @) oflfudsamnn () @udd
(b) Grassland of (i) Nile (b) Open gidfissreflen (i) @
South-Africa yeGeuafl
(c) Father of African (iii) The © 209Nss g pseflan (i) CleraGsi
rivers Serengeti SHeang suGlevef]
plain
(d) Open Air Zoo @(iv) Antartica A Hops@aied (iv) SiemLmiigsT
WO(mEsaETL & Frene
@) @-@), b)-(), ()-(iv), (d)-(ii) 1) (@), B)-(), ()-(iv), (d)-(ii)
) (a)-(ii), (b)-(iv), (c)-), (d)-(ii) )  (a)-(ii), (b)-(iv), (c)-(), (d)-(id)
(B)  @-(v), (b)-(id), (c)-(i), (d)-() (3)  (a)-(iv), (b)-(i), (o)-(ii), (d)-()
@ @-@v), (b)), (0)-(ii), (d)-(ii) @) @-@v), (b)-(), (c)-(ii), (d)-(iii)
63. The vulnerable district which is mostaffected | 63. e DDV GEETITED 24 ds
by storm surges in Tamil Nadu ? urdlLGpEeTeTT@D HLOWS WUl Lib
(1) Chennai (2) Cuddalore (1) Oserenen (2 sLgni
(3) Kanyakumari (4) Tuticorin @) saalurgof (4) E15816G
64. The highest point of Atlas Mountain is | 64. < e weneuler s 2 WMhg Sa&rn
(1) Koussi | (1) Qsgerd
) Tpubkal @ CLrusea
(3) Kilimanjaro (3) é]srﬂm@gn@,m
(4) Thabana Ntlenyana @ su L3 T —
TR 5331 -
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WWW.

i " The world famous Victoria waterfall jg
. formed by the river

,(1) Zambezi (2)

Niger
. (3) Nile 4)

Congo

66. '_—med the incorrect pair.

(1) Apple Island - Tasmania
(2) Ross Island - Mt. Erebus
: (3)* Australia - Downs

‘ (4) Lambert glacier - - Arctic

67. Find the correct statement.
m{a) . Field Marshal is a five star general
~ officer rank and the highest attainable
:r;’mk in the Indian army.

() KM. Cariappa was the first and the

only officer of the Indian Air force to -

be promoted to five star rank as
Marshal.

() On 1%t January 1978, the Officers
training school was renamed as the
Officers Training Academy.

The Coast Guard does not work in
‘Navy, the department of Fisheries, the

Central and State Police forces,
(c) and (d) only

(b) and (d) only

) (b) and (¢) only

/' (a) and (b) only

close cooperation with the Indian ‘

department of Revenue and the !

viex AN

65. sasl UsROUDD @S]&GL‘MHUJ‘F’
Y YRR [ Ly
2 (HeurGSIULLS : .
(1) gmbué (2) BT
(B) epe (4) srRGsT

66. geuprean GemeRTES Ggﬁ@@g@é;a;emb.

(1) <ruder oy - LrevGeflwm

) Gymev Say - bayac
erilue

B) eHCrallur - Leyare

@) erb@uil - Sigs

ueflwmm

67.  &flwran smpeps GsirpQs(H&EsaD.

() Se@® iwriesed . eratUgl BB
BL 58y Sibseg Qerar CuTg!
ofstil uged. Q5 QS

@rrepeugder o wihs Lged.
(b) @pdw elwrear’ umLudld BHI
BLEGHT  bsevg CEmaL
wrraged Lsel&E 2 wia] QubHD

W OO @Cr sl Cs.erid.

SHwlUT <y,eumT.

1 (c) - 1978 gemeul 1 wpsed AFlsTilser
Cooulbp& uearaflureng)
“oflariser LuAHS sl erem

Quuwir wrHpd Qebutiu’ L g.
(d) s Carrs sTeudumLwITaNg)
. sLpueL, Bereuars sien, FRIES
gleom, w W - Il STeudLIMmL
SpFweupmnLar  FHepLLg

- Qdoene.
1) (c) wpod (d)
2) (b) Lpmd (d)
() (b) OO (c)
@) () wpmid (b)

P.T.O.
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68. Match the following :
(@) Army Day () 4% December
(b)  Air Force Day (i) 1% February
() Navy Day (iii) 15™ January
(d) Coast Guard Day (iv) 8t October

@ @-@v), ®)-(i), (©)-(), (d)-(iii)

@ @-G), ®)-(), (©)-Gv), (d)-(ii)
@) (a)-ii), ®)-(i), ()-(i), (d)-(iv)
(@) @-(i), ®)-(v), (9)-G), (d)-(i)

69. The Chairman and members of the State
Public Service Commission are appointed by
(1) Chief Minister
(2) Governor
(3) President
(4) Prime Minister

70. The Fundamental Duties of Citizens of India
are prescribed in Amendment
of Indian Constitution.
(1) 32nd (2 72nd
(3) 420d (4) 24th

71. The Fourth World Conference of women
was held in
(1) Tokyo (2) Beijing
(3) Moscow (4) New York

TR 5331
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68.

(@) @rremieu Hembd
(b) eforern ueL Sed
(€) sLHUL Hand

(d) sLCerys sreudueL  (iv)

69.

70.

71.

QurBSES
(i) igFoUT 4

(i) Quireufl 1
(i) ggemeufll 15
o&GLmLIT 8
e
1
@
®3)
{4)

(@)-(i%), (b)-(id), (0)-(0). ()-(EH)
(a)-(i), (b)-(i) (c)-iv), ()-(EH)
(a)-(i), (b)-(i), (c)-(0): (D)-(V) |
(a)-(i), (b)-(iv), (0)-(0), (D-(E)

wrfle <rs uafwreri Gg;r'reurr-snmuj
sooali wHmgb e pulaisoen
Hluwwend Qedieur

@
@
®)
©

PSVMDESTT
2@

G WIES Seneeui
Arsw wESAM

QBEWE GlglodsEnssTeT éllq_l_'_]ua-)Lé
sLawsar Q@hHu Srdlweenon e

——  fLL5AGEss ALy
UMTWMISSLILIL (D eTeTa.

1) 32ag @ 7ag

3) 42aug) 4) 24@1@
BIET&TaIg 2 08 waefli WOIBTE
BerLGlupm @uLib ; ¢

1) GLrsfGur 2 Quuh@néj
(3) wreVGsr,

@ Bwywrrs
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‘?;"72_ The oldest infantry regiment of the Indian | 72. @p&lw @U"@l@igéﬂm et

¢ Amyis : Lipevwowman Q@ :
(1) Dogra Regiment : (1) Gumsgm Qe Qe
(2) Madras Regiment ‘ (2) Quwlyrev Qrgh@ e (b
(3) Rajput Regiment @) TTRuUS Qrgl@eri
" (4) Rajaputana Rifles @) yrgusen epLdeTen
73.  Thecode of civil procedures compiled during | 73. &l GaTd 2,86 ETY-EA
" the period of Tughlaq is ; QgTE&sLIL [ o Memwoudwed
B (PEDE &ULBI&ET
(1) Fatawa-i-Alamgiri (1)  elileu T-@ —c%a)ngﬁ'
(20 Mahakuma-e-Adalat (2) Ww&EGLT -@)-2ipTOS
(3) Figha-e-Feroze Shahi e @) Seusr-@-OuGra-agré
(4) Sharia-law 4)  aoflwr-ar
74. Find out the incorrect statement. 74.  &eummes aixgb‘mg)g CaipEgH&se] b.
(1) Inflation refers to the prices are rising ) ‘ ‘L‘Jas‘creﬁa'saub rarug  efleaaer
the value of money will fall o Wiy — UewHElen gy
X SpsHluamLamss GHEGLD-
(2) Value of money is meant the powerof - (\2) venrs S e -Loﬁ Uy eremug @@
quality in a country. 1 priger srsden s&ELTGLD.
(3) The word money is derived from (3) ‘uewTd  eTED - U rrr'rgmg, Grmib
Roman word ‘Moneta Juno’.  amigogurar  GorGerLm
29Cam” elaflBHg GUPLUILILLg).
(4) Deflation refers to the prices are falling @) ueTeTLLID erarug elmesdr
the value of money will rise. {i Gophs — uarsHer LY

o Witeunss GMI&ELD.

75. The Governor of Tamil Nadu is ____ | 75. SODBILIGET Dp@HBT :
» (1) Banwarilal Purohit : 1)  ueraurfeord LGrrahs
(2) RN. Ravi : W AT (2) 4 RN el ‘ ;
(3) C Vidyasagar Rao § () C.efGwmgmsi preu
@) Tamilisai Soundararajan ' @) sblflens QsembgiTmEe
TR 5331 23 { C PO,
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76. (1) Bat (2) Elephant
(3) Eagle (4) Tiger
77. (1) Patna (2) Nagpur
(3) Dispur (4) .Imphal
ANAARYARNYA
(1) 18 2 16
@ 17 (4) 20
79.  Pick out the 12" consonant of the alphabets.
M L @ P
G M 4 N
80. Efg:hIK::Pgr:?
(1) stV (2) sTV
3 tUv (4) tuv
81. SSLC:TIMD::SCERT:?
(1) TDFSU (2) ' TEGRU
(3) RBDQS (4) RDFRT
TR 5331
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MENTAL ABILITY TEST / wengglpett CSTe

Find the odd one out.

QumBBSTS 6@63765’95 G§ﬁ§@§®55m® :

76. (1) me@ﬂ@ (2)  wrenen
@) uoHS @ o

77. (1) urLenr 2) BrEYT

78, d : ‘
1 18 (2 16
@ 17 4 20

79. gufle awssd Gsriir auflevgule
12-6ug) Consonant-g5 @g,ﬁ(rj;@g,@é;a;eqm
M. L, @ P
3 M @ N

80. Efg:hIK::P(ir:? _
1) stv (2) sTV
(3) tUV i (4) tuv

81. SSLC:TIMD::SCERT:? .
(1) TDFsSU (2) ' TEGRU
() RBDQS (4) RDERT

24 |
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82.

83.

84.

85.

www.kalviexpress.in

Find the word which cannot be formed from
the word ‘PROSPERITY’.

(1) ROSE (2) PARITY

(3) PROPER (4) PROPERTY

Find the word which can be formed from
the word ‘INDIVIDUALITY'.

(1) DUAL 2 QUALITY

(3) DIVINE (4) IDEA

Arrange the given words in the alphabetical
order and choose the one that comes third.

School, Socks, Sharpner, Shoes.
(1) Socks (2)  School
(3)  Shoes ‘ (4) 'Sharpner

Find the set among the four sets‘ which is
like the given set of numbers.

216, 36, 6
(1) 252, 42,7 (2) 343,49,7

() 245,35, 5 4) 103, 55, 13

TR 5331

82.

83.

84.

85.

‘PROSPERITY’ erenm eumirgengudlgerer
TWsg &N (BHg NaTeuHd THS
UMTEMSMWL 2 (HeUTES (LPliTgl ?

(1) ROSE (2) PARITY

(3) PROPER (4) PROPERTY

‘INDIVIDUALITY’ erénm eunmigensudlgyerar
rsFIsF@aTL LweauBEE Genau(Hd
THE QUTTHOFEMW 2 (HeUMés (gD ?

(1) DUAL (2) QUALITY
(3) DIVINE 4) IDEA

Qerum  Qerpaemer gy rdle
<& méuldl e SiigLiuenLuded

aflesliu®sgIbCUTE 3-eugTS Gu(HLD
UTTEENS !

School, Socks, Sharpner, Shoes.

(1) Socks (2) School

(3) Shoes (4) Sharpner

19 676U (LD Qemenrs @ Blarmer
@ enananul, QarhH&ssliulHerer

4 Qevamsafler Qmbg Coib0SHESLD.

216, 36, 6

(1) 252,42,7 2) 343,49,7

(3) 245,35, 5 (4) 103, 55, 13
“P.T.O.
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86. - Ravi lives with his wife and 3 married sons
with each couple having 2 sons. How many
members are there in Ravi’s family ?

1 16 @ 14
@) 12 @ 10

87. How many 3s are there in the following
sequence which are preceded by 6 and
succeeded by 7 ?
237663727637676373512
® 2 @ 3
G 5 @ 1

88. If A=4, B=8, then AZ+2AB+B?=?

1 144 @) 164
() 104" f(4)as™

89.  If M=13, DOG=26, then CAT=?
1 24 ‘ (2):.'39
() 25 4) 38

90. If + means —‘, ~ means X', X 'means '+
and + means +, then 50x5+10+5-4="
1 o (2) 40
@) 10 @ 5

TR 5331
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86.

87.

88.

89.

90.

@ 5

el senaemL weanared, Loamiomg,
3 osamer  Lppd @@
soudwler 2 LD&SGB’T&S@L.G.UT UMby
aumAT. redludlen @@LPU,@@GU 2 eey
e eramanflEens Wrgl ?

o mudents
1" 16 @) 14
@) 12 @ 10

3 T 6—6r‘
19 1@ (HLD @grn_rﬂe.u g
(penaiwrEayd, 7-g0 QenaiWr&eyi

QarampeTer 3 THSme o eengl ?
237;63727637676373512
w2 @ 8

@ 1

A=4; é;s orafléy, A2+2AB+B2=?

@
@) 44

(1) 144 164

@) 104

M=13, DOG =26 AT
€] 2
®) @)

24 39

25 38

+ Greisrug,] -, — eraugl X, X GTEuTLIS,
+ bHmbL = GTG&rug,j + eraflé
50x5+10+5—-4="?

1 o

@)

(2) 40



91.

92.

93.

www.kalviexpress.in

Kiran leaves his school at 4.20 pm and in
20 minutes reaches playground and plays
with his friends for 25 minutes and leaves
for his home which takes another
25 minutes, At what time did he leave the
ground ?

@
@)

5.05 pm (2) 5.30 pm

5.10 pm )

4.40 pm

Akash was born at October 21, 2000, in that
year, Independence day was on Tuesday,
what day was it when Akash was born ?

@
@
@)
)

Friday
Saturday
Sunday

Monday

Five girls are sitting in a row. A is on the
right of B, E is on the left of B, but to the
right of C. If A is on the left of D, who is
sitting in the middle ?

1 E 2 D

@) e

TR 5331
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91.

92.

93.

frawr  Gpused  4.20 Wewtl& @

vereflufe b Hembiq 20 HlL_rgarfled

fenemir_(H ewFTAEMS 2MLHSI,

25 B i & e Sl eugen LW

pamuis@pLen eflenarwimrgil 9D,

25 Hll_risafldr Qaanmy oienWégnigw

DugeLw 6iligne ferbyfmmen.

Dleuen eflenemuim_ (5 enwgransSedl(mHg) -
HambGw Cryid erames ?

1) 2
®) O

5.05 pm 5.30 pm

5.10 pm 4.40 pm

<&CLTur 21, 2000 eTm B&TaY
Gppsrer. <ibHs BLSHean azHIT
gland « Qeeueumiis fpew erafle,

gsey UphHs Slpao :
)
)
®3)
)

Qeuerafls&lipenio
safl&dlpenio
@muinms Sipenio
g fpeno

®bs  Quarsdar @m afaso
SwHHHEHameant. A eramueui B-er
uag Ungsaib, E eramuelr B-ar @L g
Upsflgid C-5@ ez upsdaib
SibrBglererert. A -eretueu D -er
Qg Unsde wimbgererri erafld,
BHelle) ibgieTaTeul Wik ?

2 D

4 B
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94.  Raghul is taller than Vineeth but not as tall
as Mahesh. Sandheep is taller than Nishanth
but not as tall as Vineeth. Who among them
is the shortest ?

(1) Raghul (2) Vineeth
(3) Sandheep (4) Nishanth

95. Which of the following are equal ?
(@ 1° (b) 5
(© ©0° (@ 5°
(1) (a) and (b)

(2 (a)and (o)
() (b)and (c)
4) (a) and (d)
96. How many rectangles are there in the
following figure ?
. A
RN A |
1 9 (2 10
(3 11 4 12
TR 5331
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94.

95.

96.

(9

5 efL e-WrldTarag,
syarelnG 2 Wirdleveng,
g oflL e-Wrlomarag,
el o wiriléveng,
G@DHS 2wy

pre® efaHeP
Sy IDGM.’%’
spBu. HosTHe
s> cflafp 2
@ euits @56 wim
o epLwieui ?

(2) ofais

)

1) 7TEe

(3) ensU Besibs

agasrapps SIS oA e

FLOTEWD ? |
v @‘_‘5{1;_»“
b o ()b
(1) (a) wogd ()
@ (2) wppid ()
(3) (b) wHpD (c) M
@) (@ wpmd (d)
Qéraipd  ULEHD  erhg@a
QéieusisaT 2_dreren ?
| | TR RN
Ly, 7]
®m 9 (2 10
@G 1 @ 12




97. From the given answer figure (1), ), (3),
(4)), select one in which the question figure
is embedded or hidden.

© Question Figure :
Answer Figures :
|
@ @
®3) )

98. Identify the next figure in the sequence
question figure.

Question Figure :

<« !

Answer Figures : i
—

1) ‘ l @

(__

®) \_J’ ) u

—
TR 5331
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97.

98.

(1) 2)

®) O

QarHés UL (HdTer BranE eflanLs(@her
@, @, @, @) elameie

Cauprstul@erer UL G@UTGHSEILD

garons Cambos®ssajb.

eferm LD :

AenLdaETar LILBIGET :

Qemau@ Qsrifle ShssH eu@mbd
UL gSlenan sewrLhlwicyLb.

eflerm LLLb :
<_

R e

e L_&srar UL REgGer :

1) \_l @

<—

3) ‘—’l @)

-~

K
N
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99. Problem Figure :
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O

Answer Figures :

1)

@)

©

@ <+>

100. The mirror image of NATION is :

1)
®)

TR 5331

NALIOUN
NOITAU

(2) NOILYN
() NALION

-00o0-

MaLssrar LLBE -

1)

()

&

LA L

®

4)

®] [&]

100. NATION Grésrugsiﬂ sanranTmig. LGDLID :

)
®)

MALIOU
NOITAN. .

)

()

-000-

- www.kalviexpress.in

NOILVN
NALION



